# REMARKS ON THE GRADIENT FLOW OF $\alpha$ ENERGY POTENTIAL ON THE LINE 

Hyouun An and Hyunguin Huh


#### Abstract

We are interested in the gradient flow of $\alpha$ energy potential. We provide basic estimates and study asymptotic behaviors for the case $N=2, \ldots, 5$.


## 1. Introduction

In this work, we study the gradient flow of the following $\alpha$ energy potential

$$
\mathcal{V}_{\alpha}(\mathbb{X}):= \begin{cases}\sum_{i=1}^{N} \frac{1}{2} x_{i}^{2}+\frac{1}{2 \alpha} \sum_{1 \leq i<k \leq N} \frac{1}{\left|x_{i}-x_{k}\right|^{2 \alpha}} & \text { for } \alpha=1,2, \ldots  \tag{1}\\ \sum_{i=1}^{N} \frac{1}{2} x_{i}^{2}-\sum_{1 \leq i<k \leq N} \frac{1}{2} \log \left|x_{i}-x_{k}\right|^{2} & \text { for } \alpha=0\end{cases}
$$

where $x_{k} \in \mathbb{R}$ and $\mathbb{X}=\left\{x_{1}, x_{2}, \ldots, x_{N}\right\}$.
The log-gas system [11] is given by the following Hamiltonian

$$
H_{L}=\sum_{i=1}^{N} \frac{1}{2} p_{i}^{2}+\sum_{i=1}^{N} \frac{1}{2} x_{i}^{2}-\sum_{1 \leq i<k \leq N} \frac{1}{2} \log \left|x_{i}-x_{k}\right|^{2},
$$

where $\left(x_{1}, x_{2}, \ldots, x_{N}\right)$ and $\left(p_{1}, p_{2}, \ldots, p_{N}\right)=\left(\frac{d x_{1}}{d t}, \frac{d x_{2}}{d t}, \ldots, \frac{d x_{N}}{d t}\right)$ are positions and momenta of $N$ particles, respectively. The particles in the log-gas system are described via a logarithmic interaction potential and confined in a harmonic trap. The Hamiltonian of the Calogero-Moser system [4-6,10] is given by

$$
H_{C M}=\sum_{i=1}^{N} \frac{1}{2} p_{i}^{2}+\sum_{i=1}^{N} \frac{1}{2} x_{i}^{2}+\sum_{1 \leq i<k \leq N} \frac{1}{2} \frac{1}{\left|x_{i}-x_{j}\right|^{2}}
$$

Received December 19, 2022; Accepted March 8, 2023.
2020 Mathematics Subject Classification. 34D05, 34D23, 34E10.
Key words and phrases. Gradient flow of $\alpha$ energy potential, asymptotic behaviors.
H. Huh was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (2020R1F1A1A01072197).

Here we consider the initial value problem of the gradient flow associated with the potential $\mathcal{V}_{\alpha}$ :

$$
\begin{equation*}
\frac{d \mathbb{X}}{d t}=-\nabla_{\mathbb{X}} \mathcal{V}_{\alpha}(\mathbb{X}), \quad \mathbb{X}(0)=\mathbb{X}_{0}, \quad t>0 \tag{2}
\end{equation*}
$$

which can be rewritten as

$$
\begin{align*}
\frac{d x_{i}}{d t} & =\sum_{k \neq i} \frac{1}{\left(x_{i}-x_{k}\right)^{2 \alpha+1}}-x_{i}, \quad i=1,2, \ldots, N  \tag{3}\\
x_{i}(0) & =x_{i}^{0}
\end{align*}
$$

where we denote $\sum_{k \neq i} f_{k}=f_{1}+\cdots+f_{i-1}+f_{i+1}+\cdots+f_{N}$. It is enough to consider the case of $x_{1}^{0}<x_{2}^{0}<\cdots<x_{N}^{0}$.

We investigate asymptotic behaviors of the solution to (3). Note that the study of $H_{L}$ and $H_{C M}$ leads us to the second order differential equations while (3) is the system of first order ODEs. Moreover, $\alpha$ energy potential (1) generalizes the potentials of $H_{L}(\alpha=0)$ and $H_{C M}(\alpha=1)$. Some special solutions of (3) with $\alpha=0$ were studied in [2,3,12]. In particular, it was proved in [3] that the ODEs (3) with $\alpha=0$ admit unique global solutions.

In Section 2, we prove Propositions 2.1 and 2.2. The estimate (5) and Proposition 2.1 exclude the possibility of $\left|x_{k+1}(t)-x_{k}(t)\right| \rightarrow 0$ as $t \rightarrow t_{0}$ for some $k$ and $t_{0}>0$. Therefore the solution to (3) exists for all $t>0$. Proposition 2.2 tells us that the center of mass $M(t):=\frac{1}{N} \sum_{i=1}^{N} x_{i}(t)$ converges to 0 exponentially and $M(t)=0$ is an invariant space. In Sections 3 and 4, we study the case of $N=2, \ldots, 5$ and investigate the asymptotic behaviors of solutions more precisely.

## 2. Basic properties and results

First of all, we will show that a collision of particles does never happen for the initial data $x_{1}^{0}<x_{2}^{0}<\cdots<x_{N}^{0}$. For the solution of the gradient flow (2), it is easy to check that

$$
\begin{equation*}
\mathcal{V}_{\alpha}(\mathbb{X})(t) \leq \mathcal{V}_{\alpha}(\mathbb{X})(0) \tag{4}
\end{equation*}
$$

Then we can derive from (4), for $\alpha \geq 1$,

$$
\begin{equation*}
\left|x_{i}-x_{k}\right|^{2 \alpha}(t) \geq \frac{1}{2 \alpha \mathcal{V}_{\alpha}(\mathbb{X})(0)} \tag{5}
\end{equation*}
$$

which excludes the possibility of $\left|x_{k+1}(t)-x_{k}(t)\right| \rightarrow 0$ as $t \rightarrow t_{0}$ for some $k$ and $t_{0}>0$.

For $\alpha=0$, we have

$$
-\log \left(\Pi_{1 \leq i<k \leq N}\left|x_{i}-x_{k}\right|\right) \leq \mathcal{V}_{\alpha}(X)(0)
$$

which implies that

$$
\Pi_{1 \leq i<k \leq N}\left|x_{i}-x_{k}\right| \geq e^{-\mathcal{V}_{\alpha}(X)(0)}
$$

In this case, we can not exclude the possibility of $\left|x_{k+1}(t)-x_{k}(t)\right| \rightarrow 0$ as $t \rightarrow t_{0}$ for some $k$ and $t_{0}>0$. We define

$$
\varepsilon(t):=\min _{k=1, \ldots, N-1}\left(x_{k+1}-x_{k}\right)(t)
$$

Proposition 2.1. Let $x_{j}$ be the solution of (3) with $\alpha=0$. For the initial data satisfying $x_{1}^{0}<x_{2}^{0}<\cdots<x_{N}^{0}$, we have $x_{1}(t)<x_{2}(t)<\cdots<x_{N}(t)$ for all $t \geq 0$. More precisely, we obtain

$$
\frac{d \varepsilon(t)}{d t} \geq \frac{4}{N \varepsilon(t)}-\varepsilon(t)
$$

Therefore, we have $\frac{d \varepsilon}{d t}>0$ when $\varepsilon(t)<\frac{2}{\sqrt{N}}$.
Proof. Let $\varepsilon(t)=\min _{k=1, \ldots, N-1}\left(x_{k+1}-x_{k}\right)(t)=x_{i+1}-x_{i}$ for some $i$. Then we have

$$
\begin{aligned}
& \frac{d}{d t}\left(x_{i+1}-x_{i}\right) \\
= & \sum_{k \neq i+1} \frac{1}{x_{i+1}-x_{k}}-\sum_{k \neq i} \frac{1}{x_{i}-x_{k}}-\left(x_{i+1}-x_{i}\right) \\
= & \sum_{\substack{k \neq i+1 \\
k \neq i}}\left(\frac{1}{x_{i+1}-x_{k}}-\frac{1}{x_{i}-x_{k}}\right)+\frac{1}{x_{i+1}-x_{i}}-\frac{1}{x_{i}-x_{i+1}}-\varepsilon \\
= & \sum_{k<i}\left\{\frac{x_{i}-x_{i+1}}{\left(x_{i+1}-x_{k}\right)\left(x_{i}-x_{k}\right)}\right\}+\sum_{k>i+1}\left\{\frac{x_{i}-x_{i+1}}{\left(x_{i+1}-x_{k}\right)\left(x_{i}-x_{k}\right)}\right\}+\frac{2}{\varepsilon}-\varepsilon .
\end{aligned}
$$

Since $\left|x_{i}-x_{k}\right| \geq|i-k| \varepsilon$, we have

$$
\begin{aligned}
\sum_{k<i}\left\{\frac{-\varepsilon}{\left(x_{i+1}-x_{k}\right)\left(x_{i}-x_{k}\right)}\right\} & \geq \sum_{k<i} \frac{-\varepsilon}{(i+1-k) \varepsilon(i-k) \varepsilon} \\
& =-\frac{1}{\varepsilon} \sum_{k<i}\left\{\frac{1}{i-k}-\frac{1}{i+1-k}\right\} \\
& =-\frac{1}{\varepsilon}\left(1-\frac{1}{i}\right)
\end{aligned}
$$

and

$$
\begin{aligned}
\sum_{k>i+1}\left\{\frac{-\varepsilon}{\left(x_{i+1}-x_{k}\right)\left(x_{i}-x_{k}\right)}\right\} & \geq \sum_{k>i+1} \frac{-\varepsilon}{(k-i-1) \varepsilon(k-i) \varepsilon} \\
& =-\frac{1}{\varepsilon} \sum_{k>i+1}\left\{\frac{1}{k-i-1}-\frac{1}{k-i}\right\} \\
& =-\frac{1}{\varepsilon}\left(1-\frac{1}{N-i}\right)
\end{aligned}
$$

Then we arrive at

$$
\begin{aligned}
\frac{d \varepsilon}{d t}(t) & \geq-\frac{1}{\varepsilon(t)}\left(1-\frac{1}{i}\right)-\frac{1}{\varepsilon(t)}\left(1-\frac{1}{N-i}\right)+\frac{2}{\varepsilon(t)}-\varepsilon(t) \\
& =\frac{1}{\varepsilon(t)}\left(\frac{N}{i(N-i)}\right)-\varepsilon(t) \\
& \geq \frac{1}{\varepsilon(t)}\left(\frac{4}{N}\right)-\varepsilon(t) .
\end{aligned}
$$

We have $\frac{d}{d t}\left(x_{i+1}-x_{i}\right)=\frac{d \varepsilon}{d t}>0$ when $\varepsilon(t)<\frac{2}{\sqrt{N}}$. Therefore it is impossible to have $x_{k+1}(t)-x_{k}(t) \rightarrow 0$ as $t \rightarrow t_{0}$ for some $k$ and $t_{0}>0$.

Let us consider the center of mass $M(t)=\frac{1}{N} \sum_{i=1}^{N} x_{i}(t)$.
Proposition 2.2. Let $x_{j}$ be the solution of (3). Then the center of mass $M$ satisfies

$$
\begin{equation*}
\frac{d M}{d t}+M=0 \tag{6}
\end{equation*}
$$

Proof. Adding (3) for $i=1,2, \ldots, N$ and considering $\frac{1}{\left(x_{i}-x_{k}\right)^{2 \alpha+1}}+\frac{1}{\left(x_{k}-x_{i}\right)^{2 \alpha+1}}$ $=0$, we derive (6).
Remark 2.3. The equation (6) can be solved by $M(t)=M(0) e^{-t}$. So the center of mass $M(t)$ converges to 0 exponentially. Also we have an invariant space $M(t)=0$ which implies $\sum_{i=1}^{N} x_{i}(t)=0$ for the initial data satisfying $\sum_{i=1}^{N} x_{i}^{0}=0$.

We introduce the diagonally dominant matrix and its properties. We refer to [8] for more information.

Definition. A square matrix is said to be diagonally dominant if, for every row of the matrix, the magnitude of the diagonal entry is larger than or equal to the sum of the magnitudes of all the other (non-diagonal) entries in that row. More precisely, the matrix $A$ is diagonally dominant if

$$
\left|a_{i i}\right| \geq \sum_{j \neq i}\left|a_{i j}\right| \quad \text { for all } i
$$

where $a_{i j}$ denotes the entry in the $i$-th row and $j$-th column. If a strict inequality $(>)$ is used, this is called strictly diagonally dominant matrix.

It is known that a symmetric strictly diagonally dominant matrix with positive diagonal entries is positive definite. We can check that

$$
\partial_{i} \partial_{j} \mathcal{V}_{\alpha}(\mathbb{X})= \begin{cases}1+(2 \alpha+1) \sum_{k \neq i} \frac{1}{\left(x_{i}-x_{k}\right)^{2 \alpha+2}} & \text { for } i=j \\ -(2 \alpha+1) \frac{1}{\left(x_{i}-x_{j}\right)^{2 \alpha+2}} & \text { for } i \neq j\end{cases}
$$

Therefore the Hessian of $\mathcal{V}_{\alpha}$ is a strictly diagonally dominant matrix with positive entries on the diagonal. This implies that it is positive definite and thus
$\mathcal{V}_{\alpha}$ is strictly convex. This implies that all the trajectories of its gradient flow converge exponentially fast to the equilibrium. More precisely, we have, for any solution $x_{j}(t)$, the following bound

$$
\left|\mathbb{X}(t)-\mathbb{X}_{e}\right| \leq c_{1} e^{-c_{2} t}\left|\mathbb{X}(0)-\mathbb{X}_{e}\right|
$$

where $\mathbb{X}_{e}$ is the equilibrium point and $c_{1}, c_{2}$ are positive constants. By the equilibrium point we mean the only one in each connected component of the domain.

We finish this section by noting equilibrium points of (3). It is well known that the equilibrium points of (3) with $\alpha=0$ are given by zeros of the Hermite polynomials $[7,9]$. This one is the unique global minimizer of $\mathcal{V}_{0}(\mathbb{X})$ up to symmetry and an asymptotically stable equilibrium point of the ODEs (3) with $\alpha=0$. It is also known in [1] that zeros of the Hermite polynomials are included in the equilibrium points of (3) with $\alpha=1$.

## 3. The cases of $N=2$ and $N=3$

We study the cases of $N=2,3$ and investigate the asymptotic behaviors of solutions more precisely.

## 3.1. $N=2$

The equations (3) read as for $N=2$

$$
\begin{aligned}
\frac{d x_{1}}{d t} & =\frac{1}{\left(x_{1}-x_{2}\right)^{2 \alpha+1}}-x_{1} \\
\frac{d x_{2}}{d t} & =\frac{1}{\left(x_{2}-x_{1}\right)^{2 \alpha+1}}-x_{2}
\end{aligned}
$$

Then we have

$$
\frac{d}{d t}\left(x_{2}-x_{1}\right)=\frac{2}{\left(x_{2}-x_{1}\right)^{2 \alpha+1}}-\left(x_{2}-x_{1}\right)
$$

which is solved by

$$
\left(x_{2}-x_{1}\right)^{2 \alpha+2}(t)=2+\left(\left(x_{2}^{0}-x_{1}^{0}\right)^{2 \alpha+2}-2\right) e^{-(2 \alpha+2) t}
$$

Note that $x_{2}^{0}-x_{1}^{0}>0$. On the other hand, we have from the equation (6)

$$
\left(x_{1}+x_{2}\right)(t)=\left(x_{1}^{0}+x_{2}^{0}\right) e^{-t} .
$$

Then we have

$$
x_{1}(t) \rightarrow-2^{-\frac{2 \alpha+1}{2 \alpha+2}} \quad \text { and } \quad x_{2}(t) \rightarrow 2^{-\frac{2 \alpha+1}{2 \alpha+2}}
$$

as $t \rightarrow \infty$.

## 3.2. $N=3$

The equations (3) read as for $N=3$

$$
\begin{align*}
\frac{d x_{1}}{d t} & =\frac{1}{\left(x_{1}-x_{2}\right)^{2 \alpha+1}}+\frac{1}{\left(x_{1}-x_{3}\right)^{2 \alpha+1}}-x_{1} \\
\frac{d x_{2}}{d t} & =\frac{1}{\left(x_{2}-x_{1}\right)^{2 \alpha+1}}+\frac{1}{\left(x_{2}-x_{3}\right)^{2 \alpha+1}}-x_{2}  \tag{7}\\
\frac{d x_{3}}{d t} & =\frac{1}{\left(x_{3}-x_{1}\right)^{2 \alpha+1}}+\frac{1}{\left(x_{3}-x_{2}\right)^{2 \alpha+1}}-x_{3}
\end{align*}
$$

With the notation $x=x_{2}-x_{1}$ and $y=x_{3}-x_{2}$, we can derive from (7)

$$
\begin{align*}
& \frac{d x}{d t}+x=\frac{2}{x^{2 \alpha+1}}-\frac{1}{y^{2 \alpha+1}}+\frac{1}{(x+y)^{2 \alpha+1}}  \tag{8}\\
& \frac{d y}{d t}+y=\frac{2}{y^{2 \alpha+1}}-\frac{1}{x^{2 \alpha+1}}+\frac{1}{(x+y)^{2 \alpha+1}}
\end{align*}
$$

where we use $x_{3}-x_{1}=y+x$. Then we can derive

$$
\begin{equation*}
\frac{d}{d t}(x-y)+x-y+\frac{3\left(x^{2 \alpha+1}-y^{2 \alpha+1}\right)}{(x y)^{2 \alpha+1}}=0 \tag{9}
\end{equation*}
$$

Note that $(x-y)(t)=0$ is an invariant subspace of (9).
For the initial data satisfying $x(0)=y(0)$, the system (8) reduces to

$$
\frac{d x}{d t}+x=\left(1+\frac{1}{2^{2 \alpha+1}}\right) \frac{1}{x^{2 \alpha+1}}
$$

from which we have $x \rightarrow\left(1+\frac{1}{2^{2 \alpha+1}}\right)^{\frac{1}{2 \alpha+2}}$ as $t \rightarrow \infty$.
It is easy to show that $(x-y)(t) \neq 0$ if $(x-y)(0) \neq 0$. Without loss of generality, we assume that $(x-y)(t)>0$. Since

$$
\begin{aligned}
\frac{x^{2 \alpha+1}-y^{2 \alpha-1}}{(x y)^{2 \alpha+1}} & =\frac{(x-y)\left(x^{2 \alpha}+x^{2 \alpha-1} y+\cdots+x y^{2 \alpha-1}+y^{2 \alpha}\right)}{x^{2 \alpha+1} y^{2 \alpha+1}} \\
& =(x-y)\left\{\frac{1}{x y^{2 \alpha+1}}+\frac{1}{x^{2} y^{2 \alpha}}+\cdots+\frac{1}{x^{2 \alpha+1} y}\right\} \\
& :=(x-y) P(t)
\end{aligned}
$$

the equation (9) can be rewritten as

$$
\frac{d}{d t}(x-y)+(1+3 P(t))(x-y)=0
$$

Then we have

$$
0<(x-y)(t)=\left(x_{0}-y_{0}\right) e^{-\int_{0}^{t}(1+3 P(s)) d s}
$$

Noting that $P(s) \geq 0$, we have $x-y \rightarrow 0$ as $t \rightarrow \infty$ which implies that

$$
x_{1}-2 x_{2}+x_{3} \rightarrow 0
$$

We also know from Proposition 2.2 that

$$
x_{1}+x_{2}+x_{3} \rightarrow 0 \text { as } t \rightarrow \infty
$$

Then we have, as $t \rightarrow \infty$,

$$
x_{1}+x_{3} \rightarrow 0 \quad \text { and } \quad x_{2} \rightarrow 0
$$

Let us consider the case of $x_{1}=-x_{3}$ and $x_{2}=0$. Then the system (7) reduces to

$$
\frac{d x_{3}}{d t}=\left(1+\frac{1}{2^{2 \alpha+1}}\right) \frac{1}{x_{3}^{2 \alpha+1}}-x_{3}
$$

from which we have $x_{3} \rightarrow\left(1+\frac{1}{2^{2 \alpha+1}}\right)^{\frac{1}{2 \alpha+2}}$ as $t \rightarrow \infty$.

## 4. The cases of $N=4$ and $N=5$

For $N=2 m$, we consider the case of $x_{k}=-x_{2 m-k+1}$ for $k=1,2, \ldots, m$. Then (3) reduces to the system of ODEs consisting of $x_{m+1}, \ldots, x_{2 m}$. For $N=$ $2 m+1$, we consider the case of $x_{k}=-x_{2 m-k+2}$ for $k=1,2, \ldots, m$ and $x_{m+1}=$ 0 . Then (3) reduces to the system of ODEs consisting of $x_{m+2}, \ldots, x_{2 m+1}$.

## 4.1. $N=4$

We consider the cases of $x_{1}=-x_{4}, x_{2}=-x_{3}$. Then (3) reduces to the system of ODEs consisting of $x=x_{3}, y=x_{4}$.

$$
\begin{align*}
& \frac{d x}{d t}=\frac{1}{(x-y)^{2 \alpha+1}}+\frac{1}{(x+y)^{2 \alpha+1}}+\frac{1}{(2 x)^{2 \alpha+1}}-x  \tag{10}\\
& \frac{d y}{d t}=\frac{1}{(y-x)^{2 \alpha+1}}+\frac{1}{(x+y)^{2 \alpha+1}}+\frac{1}{(2 y)^{2 \alpha+1}}-y
\end{align*}
$$

Note that $0<x<y$. Then we have

$$
\frac{d}{d t}(y-x)=\frac{2}{(y-x)^{2 \alpha+1}}+\frac{1}{2^{2 \alpha+1}}\left(\frac{1}{y^{2 \alpha+1}}-\frac{1}{x^{2 \alpha+1}}\right)-(y-x)
$$

Since $y-x>0$, we have

$$
\frac{d}{d t}(y-x)<\frac{2}{(y-x)^{2 \alpha+1}}-(y-x)
$$

which implies

$$
0<e^{(2 \alpha+2) t}(y-x)^{2 \alpha+2}(t)<(y-x)^{2 \alpha+2}(0)+2 e^{(2 \alpha+2) t}-2
$$

Then we have $0<y-x \leq 2^{\frac{1}{2 \alpha+2}}$ as $t \rightarrow \infty$.
To study more precise behaviors of solutions to (10), we consider the case of $\alpha=0$. Then the equations (10) become

$$
\begin{align*}
& \frac{d x}{d t}=\frac{1}{x-y}+\frac{1}{x+y}+\frac{1}{2 x}-x \\
& \frac{d y}{d t}=\frac{1}{y-x}+\frac{1}{x+y}+\frac{1}{2 y}-y . \tag{11}
\end{align*}
$$

To find equilibrium points, we have from the right hand sides of (11)

$$
5 x^{2}-y^{2}=2 x^{2}\left(x^{2}-y^{2}\right) \quad \text { and } \quad 5 y^{2}-x^{2}=2 y^{2}\left(y^{2}-x^{2}\right)
$$

from which we derive

$$
2\left(x^{2}+y^{2}\right)=\left(y^{2}-x^{2}\right)^{2} \quad \text { and } \quad 3\left(y^{2}-x^{2}\right)=\left(y^{2}-x^{2}\right)\left(y^{2}+x^{2}\right)
$$

Then we have $y^{2}+x^{2}=3$ and $y^{2}-x^{2}=\sqrt{6}$. Note that $0<x<y$. To study the behaviors of $y^{2}+x^{2}$ and $y^{2}-x^{2}$, we can derive from (11)

$$
\begin{align*}
\frac{d X}{d t} & =6-2 X \\
\frac{d Y}{d t} & =\frac{4 X}{Y}-2 Y \tag{12}
\end{align*}
$$

where $X=x^{2}+y^{2}$ and $Y=y^{2}-x^{2}$. The solutions of (12) are given by

$$
\begin{aligned}
X(t) & =e^{-2 t}\left(X(0)+3 e^{2 t}-3\right) \\
e^{4 t} Y^{2}(t) & =Y^{2}(0)+\int_{0}^{t} 8 e^{4 s} X(s) d s
\end{aligned}
$$

Then we can conclude that

$$
X(t) \rightarrow 3 \quad \text { and } \quad Y(t) \rightarrow \sqrt{6} \quad \text { as } \quad t \rightarrow \infty
$$

4.2. $N=5$

We consider the cases of $x_{1}=-x_{5}, x_{2}=-x_{4}$ and $x_{3} \equiv 0$. Then (3) reduces to the system of ODEs consisting of $x=x_{4}, y=x_{5}$.

$$
\begin{align*}
& \frac{d x}{d t}=\frac{1}{(x-y)^{2 \alpha+1}}+\frac{1}{(x+y)^{2 \alpha+1}}+\left(1+\frac{1}{2^{2 \alpha+1}}\right) \frac{1}{x^{2 \alpha+1}}-x  \tag{13}\\
& \frac{d y}{d t}=\frac{1}{(y-x)^{2 \alpha+1}}+\frac{1}{(x+y)^{2 \alpha+1}}+\left(1+\frac{1}{2^{2 \alpha+1}}\right) \frac{1}{y^{2 \alpha+1}}-y
\end{align*}
$$

Note that $0<x<y$. For $\alpha=0$, the equations (13) become

$$
\begin{align*}
& \frac{d x}{d t}=\frac{1}{x-y}+\frac{1}{x+y}+\frac{3}{2 x}-x \\
& \frac{d y}{d t}=\frac{1}{y-x}+\frac{1}{x+y}+\frac{3}{2 y}-y \tag{14}
\end{align*}
$$

Then the equilibrium of (14) is a root of the following equations.

$$
\begin{aligned}
& 2 x^{2}+\frac{3}{2}\left(x^{2}-y^{2}\right)-x^{2}\left(x^{2}-y^{2}\right)=0 \\
& 2 y^{2}+\frac{3}{2}\left(y^{2}-x^{2}\right)-y^{2}\left(y^{2}-x^{2}\right)=0
\end{aligned}
$$

which implies

$$
\begin{aligned}
& 2\left(x^{2}+y^{2}\right)-\left(x^{2}-y^{2}\right)^{2}=0 \\
& 5\left(x^{2}-y^{2}\right)-\left(x^{2}-y^{2}\right)\left(x^{2}+y^{2}\right)=0
\end{aligned}
$$

Therefore we have $x^{2}+y^{2}=5$ and $y^{2}-x^{2}=\sqrt{10}$. We also derive from (14)

$$
\begin{aligned}
\frac{d X}{d t} & =10-2 X \\
\frac{d Y}{d t} & =\frac{4 X}{Y}-2 Y
\end{aligned}
$$

where $X=x^{2}+y^{2}$ and $Y=y^{2}-x^{2}$. Then we can derive that

$$
X(t) \rightarrow 5 \quad \text { and } \quad Y(t) \rightarrow \sqrt{10} \quad \text { as } \quad t \rightarrow \infty
$$

Acknowledgement. H. Huh was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (2020R1F1 A1A01072197). We would like to thank the anonymous referee for the useful comments on the manuscript.

## References

[1] S. Agarwal, M. Kulkarni, and A. Dhar, Some connections between the classical CalogeroMoser model and the log-gas, J. Stat. Phys. 176 (2019), no. 6, 1463-1479. https://doi. org/10.1007/s10955-019-02349-6
[2] S. Andraus, M. Katori, and S. Miyashita, Interacting particles on the line and Dunkl intertwining operator of type A: application to the freezing regime, J. Phys. A 45 (2012), no. 39, 395201, 26 pp. https://doi.org/10.1088/1751-8113/45/39/395201
[3] S. Andraus and M. Voit, Limit theorems for multivariate Bessel processes in the freezing regime, Stochastic Process. Appl. 129 (2019), no. 11, 4771-4790. https://doi.org/10. 1016/j.spa.2018.12.011
[4] F. Calogero, Solution of the one-dimensional $N$-body problems with quadratic and/or inversely quadratic pair potentials, J. Mathematical Phys. 12 (1971), 419-436. https: //doi.org/10.1063/1.1665604
[5] F. Calogero and F. Leyvraz, Many-body problem with quadratic and/or inverselyquadratic potentials in one- and more-dimensional spaces: some retrospective remarks, J. Stat. Phys. 155 (2014), no. 4, 658-665. https://doi.org/10.1007/s10955-014-09733
[6] F. Calogero and C. Marchioro, Exact solution of a one-dimensional three-body scattering problem with two-body and/or three-body inverse-square potentials, J. Mathematical Phys. 15 (1974), 1425-1430. https://doi.org/10.1063/1.1666827
[7] P. J. Forrester and J. B. Rogers, Electrostatics and the zeros of the classical polynomials, SIAM J. Math. Anal. 17 (1986), no. 2, 461-468. https://doi.org/10.1137/0517035
[8] R. A. Horn and C. R. Johnson, Matrix Analysis, second edition, Cambridge Univ. Press, Cambridge, 2013.
[9] F. Marcellán Español, A. Martínez-Finkelshtein, and P. Martínez-González, Electrostatic models for zeros of polynomials: old, new, and some open problems, J. Comput. Appl. Math. 207 (2007), no. 2, 258-272. https://doi.org/10.1016/j.cam.2006.10.020
[10] J. Moser, Three integrable Hamiltonian systems connected with isospectral deformations, in Surveys in applied mathematics (Proc. First Los Alamos Sympos. Math. in Natural Sci., Los Alamos, N.M., 1974), 235-258, Academic Press, New York, 1976.
[11] J. F. Peter, Log-Gases and Random Matrices, Princeton University Press, 2010.
[12] M. Voit and J. H. C. Woerner, The differential equations associated with Calogero-Moser-Sutherland particle models in the freezing regime, Hokkaido Math. J. 51 (2022), no. 1, 153-174. https://doi.org/10.14492/hokmj/2020-307

Hyojun An
Department of Mathematics
Chung-Ang University
Seoul 06974, Korea
Email address: ashould@cau.ac.kr
Hyunguin Huh
Department of Mathematics
Chung-Ang University
Seoul 06974, Korea
Email address: huh@cau.ac.kr

